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INSTRUCTION:  

This section consists of TWO (2) compulsory structured questions. Answer all 

questions. 

ARAHAN : 

Bahagian ini mengandungi DUA (2) soalan berstruktur. Jawab semua soalan. 

QUESTION 1 

SOALAN 1 

(a) Referring to matrix M = [
2 4 4
1 3 2

−1 −2 −3
] , calculate : 

Merujuk kepada matriks  M = [
2 4 4
1 3 2

−1 −2 −3
] , kira : 

i. Element M32 – (M22)2

[2 marks] 

[2 markah] 

ii. Element 2(M13 +  M21)

[2 marks] 

[2 markah] 

(b) Given the matrix: A =[
3 5
1 3

]   B = [
1 −2 4
3 5 2

] and C = [
1 0
12 3
2 6

] , calculate 

Diberi matriks A =[
3 5
1 3

]   B = [
1 −2 4
3 5 2

] dan C = [
1 0
12 3
2 6

] , kira 

i. Determinant A

[2 marks] 

[2 markah] 

CLO1 

C3 

CLO1 

C3 
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ii. BT – 2C

[3 marks] 

[3 markah] 

iii. (3AB)T

[4 marks] 

[4 markah] 

(c) Solve the following simultaneous equation by using Inverse Matrix method

Selesaikan persamaan serentak berikut menggunakan kaedah Matriks Songsang

𝑥 − 2𝑦 + 3𝑧 = 1 

2𝑥 − 2𝑦 − 𝑧 = 3 

 2𝑥 + 2𝑦 − 𝑧 = −2 

[12 marks] 

[12 markah] 

CLO1 

C3 
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QUESTION 2 

SOALAN 2 

(a) Given vector x = 4i – 8j + 3k and w = -5i + 2j. Express the following expressions

in matrix notation.

Diberi x = 4i – 8j + 3k dan w = -5i + 2j. Berikan setiap jawapan dalam tatatanda

matriks.

i. x and w

[1 marks] 

[1 markah] 

ii. 3x + 2w

 [3 marks] 

[3 markah] 

iii. w – 2x

[3 marks] 

[3 markah] 

(b) If 𝑂𝐴⃗⃗⃗⃗  ⃗ = 2i + 4j and 𝑂𝐵⃗⃗ ⃗⃗  ⃗ = 5i – 8j,

Jika 𝑂𝐴⃗⃗⃗⃗  ⃗ = 2i + 4j dan 𝑂𝐵⃗⃗ ⃗⃗  ⃗ = 5i – 8j,

i. Sketch vector 𝐴𝐵⃗⃗⃗⃗  ⃗ in a Cartesian plane.

Lakarkan vektor 𝐴𝐵⃗⃗⃗⃗  ⃗ di atas rajah Cartesian.

[2 marks] 

[2 markah] 

CLO1 

C3 

CLO1 

C2 
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ii. Calculate the value of A – B.

Kirakan nilai A – B.

 [2 marks] 

   [2 markah] 

iii. Calculate the unit vector of 𝐵𝐴⃗⃗⃗⃗  ⃗.

Kirakan vektor unit 𝐵𝐴⃗⃗⃗⃗  ⃗.

[4 marks] 

   [4 markah] 

(c) S, T and U is a triangle with vertices at the point (3, 6, -2), (3, 4, -7) and (-3, 0, 9).

Calculate the area of triangle of STU.

S, T dan U ialah segitiga dengan titik (3, 6, -2), (3, 4, -7) dan (-3, 0, 9). Kirakan

luas segitiga STU.

[10 marks] 

   [10 markah] 

SOALAN TAMAT 

CLO2 

C3 
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